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CON 2

R. B. S. B. R.0.—DEAP)
Batch Year 2009

PAPER II (DESCRIPTIVE TYPE)

[ TiME—9-30 a.M. To 12-30 P.M.]
(Maximum Marks—100)

Instructions.—(1) Attempt any five questions.
(2) All questions carry equal marks.
(3) Credit will be given for orderly, effective and exact expression.
(4) Marks will not be alloted for superficial knowledge.

1. Distinguish between head-count ratio and poverty-gap ratio as measures
of poverty. What is the extent of poverty in India ?

2. Bring out the role of the agricultural sector in the current stage of
development in India. Is the targeted growth rate for the agricultural
sector in the 11th five year plan in India attainable ? Give reasons
for your answer.

3. Though Special Economic Zones have been successful in the context of
China, the policy of establishing such zones in India is neither feasible
nor desirable. Discuss.

4. Bring out, in an appropriate framework, the consequences of high fiscal
deficits in an economy. Are you of the opinion that fiscal deficits in
India are excessive ? Give reasons for your answer.

5. Show that an economy cannot simultaneously have fixed exchange
rates, perfect capital mobility and autonomous monetary policy. Bring
out, in this context, the effects of increased capital inflows/outflows
in an economy like India.

6. What are the factors responsible for the emergence of a balance-of-
payments/currency/financial crisis ? Analyze with the help of some
historical examples.

7. Regional Trading Blocks serve more as ‘stumbling blocks’ than as
‘building blocks’ for global multilateral trade liberalisation. Do you
agree ? Give reasons for your answer. '

8. Bring out the developments in India’s balance-of-payments since around
the year 2000. Would you consider the current balance-of-payments
position in India to be sustainable ? Give reasons for your answer.

9. What are Special Drawing Rights (SDRs) ? Why is it being suggested
that SDRs should have a greater role to play in a reformed
international financial system ?

10. Write notes on any two of the following :—
(a) Growth models
(b) Jobless growth with special reference to the Indian experience
(¢) Imnflation in India
(d) Doha round negotiations in the WTO.
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AR, & TR, . (FTHATH-—Irhr=fy)
= a9 2009

TeI9H 2 (JUiFTeH s ET)
[Fa—ygalsT 9-30 g9 9 uRTE" 12-30 St 9]

(gorfes—100 )

fRuoft.—(1) fe<l dfa ueal & Sav ford|
(2) ft gl & i wHH T
(3) gemafRm, ward) ik wdes iffrafdd & wswa e R
(4) gl s= & fag o a8 & S|

1. O B TS $ B - (head-count) TE TR BTeR
(povenygap)aﬁmﬁaﬂqmésﬁawaﬁﬁmlwﬁm
o1 gReTer |y ' 7 v

2. 9RA & I 31 a9 @ d FN a3F B JAeT R yste Sifed |
T RS YA o 9 afta Y B e <)yt § 2 e
g B g BRI

3. afy ALY anfde a7 4 & dav § 9% Afdd gU § UR %1 URd

_ # e a1 & wwg ® iR a1 € aisHiy R, ==l SR

4, ffre ISP " & Ifawen R sNare uRumEl B e g
3 A IR FT 9RT ¥ IR =S AfRE & ? G I Bl
Jsl d gie Hifm|

5. fug oI fF $IF srfaawen e € 9 ) g sy g, gof gsit
Tfgefiaar sk @R #Aifte Aifd srffa 98 o< aedll 59 ey
4 wRa S|l onfie =awen d sed ¢ gsft uare (inflows/outflows)
&% yural @7 fadeer Sl

6. WEM dqeq / ®Wifse / fafm R=l & (crises) IWA & PBRUN W
gepTel S| o UIEfie SerRel &1 "erdar 9 91 vy
BT |

7. afyy aur de IRge SguEly AR @ ufkar d WERe B I
qiIe Gifdd B9 § 1 RIT IY 39 Jaaed | WeAd & 7 Ul e ad!
B FEETT 9 9|

8. YR B YA Hgerd # g9 2000 F wG F M IqA@ U UBE
TIferd | 1 oMy 9 & F WA @ YaE dgea @1 gaar [Rafd
wRfl (Sustainable) & ? gdwTd I AR

9. faiy smexw fBR (SDR) #1 #aad w@ensd| 7@ U el g3
eﬁaﬁ@wwmﬁwgﬁmmmvﬁm%qﬁmq%ﬁmﬁm
Jbf ux smeRa & 7

10 fy=faRaa B g ux feuyuoll faRay :—
(@1 gfg (Growth) wikEm
(@) 9rdm G 7 Jomr R[{fga ¥ gfg
() wRaG H a1 Wi
(e) fazg wwmR dTeq &1 arer (Doha) gmaf R
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